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QUESTION 1

Which of the following is not a benefit of SAP OS/DB Migration Check?
Please choose the correct answer.

A. Independent of 3rd party stand-alone solution

B. Efficient Project Implementation through Migration Partners

C. Standardize positions for all migrations

D. Standardize positions for selected migrations

E. Inspection of project schedule by SAP

Correct Answer: D

QUESTION 2

List down the features of Migration Monitor (MIGMON)?
There are 2 correct answers to this question

A. R3LOAD export or import parameter

B. Creates R3LOAD Import command files

C. Start R3LOAd process as soon as task starts

D. Calls R3LOAD to generate import task files

Correct Answer: BD

QUESTION 3

What are the Typical warning in R3SZCHK.log if reaching the size limit?

There are 2 correct answers to this question

A. WARNING: REPOLOAD in SLEXC: initial extent reduced to 1782579201

B. WARNING: /BLUESKY/FECOND in APPLO: initial extent reduced to 1782579222
C. WARNING: REPOLOAD in SLEXC: initial extent reduced to 1782579200

D. WARNING: /BLUESKY/FECOND in APPLO: initial extent reduced to 1782579200

Correct Answer: CD
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QUESTION 4

You perform a Java dual stack split. Which split options do you have?
There are 3 correct answers to this question

A. Migrate DB

B. Upgrade DB

C. Remove

D. Keep DB

E. Move DB

Correct Answer: CDE

QUESTION 5

Which program is started by SAPINST to ensure that the ABAP DDIC is consistent in the target system?
Please choose the correct answer

A. R3LOAD

B. R3SZCHK

C. MIGCHECK

D. DIPGNTAB

Correct Answer: D
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